R — T RUEFHERT)

Borw F—24 i
1 DRI B b 2 AR — 7 AR 15 30
2 |IBVEE AR — Y DR 14 00
3 JIEIFE B A R — > /D4 — — e
4 |EBE7 T T ARV EM 15 12
5 |BHFER=FZTTA 13 15
6 |BFHR=FZF7B 14 32
T IR ERE L 13 33
8 |FHERIA—HA KT F =57 13 48
9 |t b ARy R — — o
B — B REFERT)
By F—24 i fisi
5
21 [ABRREE B R — Y AR 15 56
292 IEIRE |2 AR — 7 7 E R — — IR
23 |EETZEFEAR— Y DR 15 51 OPZN
24 |FHR=FZTTA 12 52
25 |PFHER=FZ 7 7B 13 07
20  |AHpE AR — Y /AR 14 53
27 |/ b 2 A — > AR 15 29 OPZN
28 |lEE AR AR 15 03
29  |EHRAEY v I — AR — Y DEEMA 14 17
30 |ERAEY v h—AR— Y DB 15 16
31 HEE»rF-z2r 5T 13 13




R E— B REEEXTF)

Yoiry F— L, L= o
11 [ARREE EAR— 4 14 23 10
12 PHEIFE AR — Y DEHA 12 6 2
13 |IEIRE % R— v D 4ERB 13 49 9
14 |EB2 57 2AR—Y e 12 52 5
15 |PFHER=FZF7A 11 49 1
16 |HHE=F27 7B 12 34 4
17 [ L AR — Y DA 12 57 7
18 |PFHBRUYAN—HA KT F =X TF7 12 15 3
19  |FHbe L xR — v 4R 12 55 6
20 |AEENFo-ZrFT 13 24 8

R — B REGEEST)

Vo S 1 Z ; - o
41 |ABRERE B R — Y AR 14 11 16
42 |y 77 14 11 15
43 IEVREE A R — VDR RIA 12 15 3
44 |EVRAE A R — Y D 4ERB 12 44 9
A5 IEIRE -2 R — D4R 13 11 11
46  |[EETZETE AR — Y AR 16 01 17
A7 |BFHBR=FEZ T T 11 06 1
48 |FHHE=FZ 578 12 20 4
49  [RILARAAERE E AR — Y DR 12 47 10
50 |[PFHBRUA—HA RFTrF =X TFT 11 32 2
51 |4k L AR — Y A 12 37 6
52  |AbE kAR — Y DAEMB 13 53 14
53  |NEBE L AR — Y D] 13 14 12
b4  |EHAR—V D 12 41 7
55 | R v I — AR AERA 12 26 5
56 | =RDEY B — AR — /B AEMB 13 45 13
b7 |HEE»LF-z257 12 44 8




